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Economics
Paper II

AL ITET

EESRIECaI |
Time Allowed : 75 Minutes] [Maximum Marks : 100
Note : This Paper contains Fifty (50) multiple choice questions, each question
carrying Two (2) marks. Attempt All questions.

GOl : A TRAULThd THY U (50) gl TEd fonl STed. Uoieh TR g (2)

U SRd. @d U Wi

The formula for constructing index | 1. <™ SR STl Gelel FTHR
using Laspeyres method is : el S
2podo 2Po4,
A) Py =——— %100 A) Py =——— x100
@) Fo 2paqy @) For 2paqy
2pq, Zpiq,
By Py, =29 x 100 By Py, =A% %100
(B) For 2pody (B) For 2Py
P14 P19,
P,, = ——= x 100 P,, = ———= x 100
©) Fon 2Po4o ©) o 2Po9,
Pi12qy P24,
D) Py, =21 x 100 D) Po, = 220« 100
D) T = 5y D) For =, 54,
When B, is greater than 3, the curve | 2. SES By T 3 Tefl S 379!, doal dsh
will be : 3 ST ITEAl :
(A) Mesokurtic (A) HEHREH
(B) Platykurtic (B) wifeshfdm
(C) Demikurtic (C) SHrBfeH
(D) Leptokurtic (D) e
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The name of the economist who first
defined the concept of shadow prices
is :

(A) Rosenstein Rodan

(B) H. Leibenstein

(C) J. Tinbergen

(D) G. Myrdal

HDI is constructed with reference

to :

(z) Life expectancy of birth
(z1) Real GDP/per capita
(Zi2) Inflation index

(tv) Nominal GDP

The correct answer is :

(A) () and (1)

(B) (i) and (ii7)

(C) (i) and (iv)

D) ()

MAY - 11216/II—B

AT fhAd 91 GHeUA=l 10Tl

UM YU ARAT hadl  ?

(A) TR UM

(B) TH. ARSEREA
(C) 3. federsia

(D) i frefa

HDI =it HISToT Eefiel sTeieat SR hell
SR

(i) SoeEHl STIHM 3TdeT
(ii) TTEE TS TW S Seed

~

(111) AR T

<R

(iv) HE T dwiiata Seaed
A I BN

(A) () =T i)

(B) (1) S (i)

(C) (i) <o (iv)

D) Gv)




Harrod-Domar model of economic

growth is based upon :

(z) Warranted growth rate
(z1) Investment growth rate
(zi1) Productivity growth rate
(iv) Natural growth rate
The correct answer is :

(A) (@) and (i)

(B) (i) and (i7)

(C) @)

(D) (@) and (v)

Adam Smith argued in favour of a

policy of :

(A) Protection

(B) Free trade

(C) Self-sufficiency
(D) Minimum welfare

Economic growth results from an

increasing :

(A) Propensity to consume
(B) Propensity to import
(C) Propensity to export

(D) Propensity to save

MAY - 11216/II—B
T sTfuggre Te-SMT UfqaM A
SERA T8

(i) TERIHAT JGIeT

(i) AR FGIaT

(iif) TR FHIaL
(iv) “Efifs FEIR
A W BN
(A) (@) 3Tfr (iii)
(B) (i) 301 (i7)
(C) @v)

(D) @) 3 Gv)

sfeq feme A = GRom= J iR
ol :

(A) &

(B) T =R
(C) wEfeRa
(D) fFAM weam

[aV N ¥ [aV aV
Cltlcdlen] nlUIcdl dldqla dGl slledid

smfYfe Afveal 3 ?
(A) 399 Fait

(B) 3Td ShI0AT=H Yol

(C) frafa sIvart gai

(D) S=d HIOATH Yol

[P.T.O.



10.

In ‘Global Hunger Index’ 2013
report by International Food Policy
Research Institute (IFPRI), India

has been placed at :
(A) 65th Rank
(B) 66th Rank
(C) 63rd Rank

(D) 68th Rank

The Economist who stressed the role
of the entrepreneur in development

was :
(A) Hirschman

(B) Nurkse

(C) Rosenstein Rodan
(D) Schumpeter

The concept of organic composition

of capital is given by :
(A) Marshall

(B) J.S. Mill

(C) Karl Marx

(D) Adam Smith

10.
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2013% AWK =G €’

GeA TE=A (IFPRI) df¥esh SUMHR
frdeTeh STRATAIER YRATeT Y Sash

AR -

(A) 65d1
(B) 661
(C) 63drn

(D) 68an

forermayfshad UM SeESiehT=i YfHehT
IV A ERAEra hedl 2

(A) =eE

(B) 7

(C) TS TsH
(D) i

qreae= Hisd TETdl Fhed
I Al

(A) HRid

(B) S.tE. foa

(C) et Hd

(D) sfew f=y




11.

12.

13.

Which one of the following policies
will not be useful for bringing the
economy out of unemployment
equilibrium ?

(A) a rise in minimum wage rate

(B) a

expenditure

rise in government

(C) a rise in taxes
(D) a rise in money supply

If the ratio of currency to demand
deposits ratio increases, the money
multiplier value :

(A) increases

(B) decreases

(C) does not change

(D) change in equal proportion

In classical macro-economic model,
automatic full employment is
ensured if :

(A) Excess demand in labour
market leads to rising real
wage

(B) Excess demand in labour
market leads to falling real

wage

(C) Excess supply in labour market

leads rising real wage

(D) Real wage does not change
whether there is excess demand

or supply in labour market

11.

12.

13.
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ETeiTeTdeht ShIOTd  ENTOT SQSHT=AT
HHArTA qRfeqT ey el

FIEUAY YR 3 ARl ?

(A) &AM 9dq SUdia o6

(B) TR T 9@

(C) HdA 1@

(D) W= QRacawa a1

SR T 0T AT et ATl ol

e, W JE o g

(A) dTed

(B) =

(C) =& It

(D) FHYHTOMG Seerd

TG A e SiH, e

ol IS @ 3 9d S]

(A) #AfH SToIRIdTe AR HRTOes
IS ARG 91 B ST

(B) #AfHe SToIRIdTer SAfdie HRTofHges
IE A W B I

(C) #ifHer IR SAfafied qeeeHe

e TS 916 Bid 3TEd
(D) #ifteh SISTRTeteT SAfdfiesr ATl 37fon

RS Idd Helld sed ad

THA
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14.

15.

The imposition of an import tariff by

a nation :

(A) Usually improves the nation’s
terms of trade and increases the

volume of trade

(B) Worsens the nation’s terms of
trade but increases the volume

of trade

(C) Worsens the nation’s terms of

trade and reduces the volume

of trade

(D)

Usually improves the nation’s
terms of trade but reduces the

volume of trade

Until 1971, the SDR had the same

value as :

(A) an ounce of gold
(B) a pound of gold
(C) a US dollar

(D) a British pound
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14. I G Weh AR

15.

(A) FMME: SR edgeddl SUHY
YR SIS A0 S0 AR

3ATRIA el

(B) ¥ HoAdeddl T oS HSad
MU ST SRR
el

SIEY]

(C) <IN eAdeddl T o HSad
AR SO SR
HEedl

S|

(D) HMMId: QAT Heddeddl &4
YYRON SrEeA ST S01 SR

3ATRIA  SZaal

1971 wfd SDR ¥ ¥Hod Ir=a1 9HM
B

(A) & 3w 9
(B) T& dre 9H
(C) THh FTH. IR

(D) & fafes dis




16.

17.

18.

The classical theory of comparative

advantage is based on :

(A) the labour theory of value
(B) law of diminishing returns
(C) law of increasing returns
(D) tariffs

Which one of the following is the

immediate effect of tariff ?
(A) fall in production

(B) rise in production

(C) fall in price

(D) rise in price

Stability in the Keynesian cross

model requires :
(A) MPC to be equal to 1

(B) MPC to be less than 1 but

greater than zero
(C) MPC to be greater than 1

(D) MPC to be non-negative

16.

17.

18.
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TATAA AT oy fagr e eenfia

qE

(A) Hoam=T o\ THgT

(B) w2 goamEm=n fam

(C) dreca o fagia

(D) 9xh

Geehl=l dlcehlod IV ROTH  ShIvT
e ?

(A) SURA ¥
(B) 3URA 916
(C) frwda =2
(D) frwda =me
YT e TR Reradret & ofe

AETIF IEd :
(A) For SUd Yo TE Bl

(B) ST IUHNT Wit TehTda shHl W
JATIE SR gl

(C) T 3UUMT Yot Tehrde SRd
Bal

(D) T ITERT FoIxil 3RO ST

[P.T.O.



19.

20.

(@)
b)

(c)

d)

A long-run Phillips curve will show
no trade-off between unemployment
rate and inflation under which of the
following circumstances ?

(A)
(B)

Inflation rate does not adjust

Inflation rate always has an
upward trend

(C) Inflation rate adjusts the

following adaptive expectation

(D) Inflation rate is independent of

unemployment rate
Match the following and select the

correct answer from the codes given
below :

(1) Edmund Phelps
(2) Alfred Pigou

Liquidity trap
Adaptive
Expectations
Wealth effect  (3) John Maynard
Keynes

Restatement of (4) Milton

quantity theory Friedman

Codes

A) (a)—(1), (b)—(2), (c)—(3),
(d)—4)

B) (a)—(3), (b)—(4), (c)—(1),
(d)—2)

C) (a)—(4), (b)—(3), (c)—(2),
(d)—(1)

D) (a)—(3), (b)—(1), (c)—(2),
(d)—4)

19.

20.

(@)
®)
()
()

MAY - 11216/II—B
SrelenTele fhefteg=n o, SSHRI=T €Y
3nfoT WERITERT A Weierieh! ShIve
IRfEerd TR SREUIR AR ?
(A)

(B)

HERTTaedr=a1 SUd JBUil Bid 8]

AR ITA SId TgH= IEaH
EagC Gl

ATRe® (Jooull BIoT=aT) STULTHl
SIS HEEITEATA TUd Jesull

=l

(C)

~

(D) WEHTER d SUSART A< S F&as
SHHATd

Siren a3 @relt feedn gatangd

Iy I e

Al 93 (1) TSHE e

CREGERC LIl (2) ewe fuy

ot afomy (3) S HAE &

e Heen (4) Toeed wew

fagrar=t grwfesit

i

(A) (a)—(1), (b)—(2), (c)—(3),
(d)—(4)

(B) (a)—(3), (b)—(4), (c)—(1),
(d)—2)

(C) (a)—(4), (b)—(3), (c)—(2),
(d)—(1)

D) (a)—(3), (b)—(1), (c)—(2),
(d)—(4)
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21.

22.

Real balance effect operates

through :

(A) Investment

(B) Consumption

(C) Taxes

(D) Government spending

Friedman’s demand for money
function basically shows which one

of the following statements :

(A) Income velocity becomes a
function of rate of interest and

inflation

(B) Income velocity becomes a

function of money supply

(C) Money demand always becomes

an inelastic function

(D) Money demand became

independent of rate of return

21.

22.

MAY -11216/I1—B
g T Feaes 9ftomg ammeg e

E x|

(A) T

(B) U4
(C) =X

(D) TR T

TISHTS YR AFT held STeiierieh]
F3al faum ferd: eufaar ?
(A) Uil 9R=e o § TS G I

TAETE T A= Hed ol

(B) Wit qi=re & YRmr=a e

e B

(C) TeT=i ATl SeHE STcteieh hold

=Id

(D) ST AN YRATeATeA SR Tefed

THd

11
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23.

24.

25.

Devaluation is resorted to :
(A) Encourage exports
(B) To increase the growth rate

(C) Give more value to home

currency
(D) Tide over external difficulties

The International Monetary Fund

started functioning on :
(A) 1st March, 1944
(B) 1st March, 1945
(C) 1st March, 1946
(D) 1st March, 1947

The country which produces

maximum tea in the world is :
(A) India

(B) China

(C) Sri Lanka

(D) Japan

23.

24.

25.

MAY - 11216/II—B

FIYIT AT HNOMHE! hel A
(A) Trafden amem SoarEna!

(B) anfdieh ggieX defavamme

(C) T FoHe SR fhAd uarEnet
(D) 9T TSGR A HIUAHC
STAWL AL Tefial feawi wrikd
EIG I

(A) 1 94, 1944

(B) 1 #r€, 1945

(C) 1 wrd, 1946

(D) 1 HArE, 1947

S w@ErE A S Scdied 81 oF

HIA
(A) 9Rd
(B) =M
(C) siteieht

(D) SU™
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26. Which of the following markets are | 26. 9&E] SN 3TN @IeleTUshl hIOTdT
independently regulated by Forward TR (Market) TaTT0 Frefd &5 2
Market Commission ?

(A) FHIAA HE
(A) Mutual Funds
(B) faf=
(B) Commodity Exchanges B
(C) Stock Market (C) HFTHrEeT SN
(D) Foreign Exchange Markets (D) WehiF = SN

27. In India, minimum support price for | 27. 9RaW SqHETEN fFAM NER fRTden
agricultural products is finally T qivﬂ-llqu‘_\ﬂ el o
approved by :

(A) B3 dfves
(A) Union Cabinet

B EEICR]
(B) Ministry of Agriculture ®) el
(C) The Parliament of India (C) RAT! FH
(D) The President of India (D) YRAr= TSt

28. Which state produces maximum | 28. VRAWI® @eladsl HIeaT AT
Soyabean in India ? AEY g S 3cqe @i 2
(A) Uttar Pradesh (A) ITIH
(B) Bihar (B) feer
(C) Rajasthan (C) USTEYMH
(D) Madhya Pradesh (D) AW

13 [P.T.O.



29.

30.

The largest importer of Indian

textiles is :
(A) Italy

(B) Germany
(C) Singapore
(D) USA

The market system fails to produce

public goods because :

(A) There is no need or demand for

such goods

(B) Private firms cannot restrict the
benefits of such goods to

consumers who are willing to

pay for them

(C) Public enterprises can produce
such goods at lower cost than

private enterprises

(D) Their production seriously
distorts the distribution of

income

29.

30.
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YR I&A= Faid S A13d

T ATMHZA .
(A) sl
(B) STt

(C) famR
(D) 3T

SSTREA HTSSIeh S 3G hvAT

WA B, HROT ¢

(A) o1 I TS fehall ST ARTON T4

(B) @ISAft STURTHE SN T s

S IqYRKI T TRIES! fRAd T
g

(C) WreSITeh ITITHEAT TN T
IATGH WIS TR Srai=a

AN o (s
doidd <pHl WHld h& RMehdld

(D) = IEATES 3= faawoma TR

faequ faf 29
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31.

32.

Under what conditions a

monopolist’s output is efficient ?

(A)

Third degree price discrimi-

nation

(B) Second degree price discrimi-

nation

(C) First degree price discrimi-
nation

(D) When there is no price
discrimination

A Pigouvian subsidy :

(A) cannot exist with externalities

(B) is the same thing as a

Pigouvian tax

(C) is measured in terms of

Pigouvian dollars

(D) moves production to the socially

optimal level of output

31.

32.

MAY - 11216/II—B

e RIdiel Scale @eileTdeh] hIoTe]

gfifeerdia sriem & ?

(A) TE JH Jaug

(B) fgdta gm0 geasg

(C) Wo™ JH AR

(D) Sl Heaug el S ARl

ﬁ'ﬁqﬂﬁﬁﬂw:

(A) I STEAA ST Tehd TGl

(B) WU dgofiid Y ST

(C) drueiia eferad Hdisel S

(D) ScqTEATAT Hll—llrclehcibml 352dH

AN N
SCHIGQI=Hl Hldodlehs  Adld.
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33.

34.

In Tobin’s portfolio balance

approach to money, the indifference

curve of plungers are necessarily :

(A) Negatively sloped and concave

(B) Positively sloped and convex

(C) Positively sloped and concave

(D) Negatively sloped and convex

Which of the following has more

elastic demand ?

(A) A commodity without
substitutes

(B) A commodity with close
substitutes

(C) A commodity on which a small

fraction of income is spent

(D) A commodity the use of which

cannot be postponed

MAY - 11216/II—B

33. = UeTe JEEUE GRS

34.

qqcl  HRUAT (iRl Yeoh<rral
STASIAT) KT HHITIAGh STavIHd
............. 34@ W.

(A) 30 WO A(OT (STREATRN)
celsh

(B) &9 Yauad AT (STRUEIMRT)
EIECED

(C) ¥ Faud™ o (STRYEART)
3desh

(D) 30 WU MO (STREATRN)
Sfgdsh

TR ShIOe Sel HIToft S1freh

A A9 ?

(A) <1 I GARN %] THad

(B) S IRl Sda< TAE STHA

(C) <1 IRER Iq=Tal ASl ¥R E=

sHedl STl

(D) A1 T TN ATGUTER 2Tehal A

T
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35. The marginal

revenue of a

monopolist facing linear demand

curve approaches price when

MAY - 11216/II—B

35. Y ANTTeIsh STHUT=T Hekie I SeN et
Y= YTl deel fhadiuad! g STl

ARTUi= Safeehdl & :
demand elasticity :
(A) RS A
(A) approaches zero
(B) becomes negative B) 30 T
(C) approaches infinity (C) TaHS W
(D) approaches one D) 1%s S|
36. (1) Income effect of a price change 36. (i) RO SeaET 39 RO YedtE
is always positive.
o STl
(z1) Substitution effect of a price
change is always in the opposite (¢) o SrTaT W 9T e
direction of price change fpaa sear=a faeg o oM
(negative).
(1) STl
(A) Statement () is true but not (i)
(A) faum () ¥ 991 (i) &
(B) Statement (i7) is true but not (7)
(C) Both statements (i) and (ii) are (B) faum ) & w1 (i) T
t
e (©) faum ) =fr (i) S T
(D) Both statements (i) and (i) are
(D) fagm @) sufor (i) = o7
false
17 [P.T.O.



37.

38.

39.

Generally under monopoly the cross-
elasticity of demand with other goods

or services is :

(A) very high

(B) moderate

(C) very low

(D) unity

Pure oligopoly is one where :

(A) There are many firms producing

homogeneous product

(B) There are few firms producing

homogeneous product

(C) There are many firms
producing differentiated
product

(D) There are few firms producing

differentiated product

Market mechanism are unlikely to

provide :

(A) Prices

(B) Non-rival goods efficiently
(C) Supply and demand

(D) Equilibrium

37.

38.

39.

MAY - 11216/II—B
TR FRIGR A IcqTfad sheled
T SR TR -NAAT HeHldid D
Aafaehal &

(A) T4 S 4

(B) #&I9 3T9d
(C) TU HH WA
(D) T Hd

iz TUSHIYeR. =US 3T ® NIk

(A) TU STTEEAT THiSTH T
BT eh{dld

(B) &l JITHEAT Uhfodl T
SHIGT ehdid

(C) U e fadfed e SeameH
S {dld

(D) =t e fadfed sqe S
LA

ST WIeAeteh! FH3elt e < TIehd

e 2

(A) fomwt

(B) smuyf a%y e
(C) gE&el 3for AFToft
(D) A
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40.

41.

In the long-run competitive

equilibrium, the theory predicts

that :

(A) TC = TR and MC = MR

(B) Firms operate at maximum

average total cost

(C) There is an incentive for entry

or exit of firms

(D) TC # TR and MC # MR

“Excess capacity” and selling costs
are the essential characteristic of the

firm in market of :

(A) Monopoly

(B) Perfect competition

(C) Monopolistic competition

(D) Pure competition

40.

41.

MAY - 11216/II—B
01 TaEfTe SreeRTel FHdeeed S
3 W HIA

(A) THY T = TH AT S0 HHr=<

TE = dE Tt
(B) SUNTHEA HqH HUHL THU @

qidesial Scdle hidrd

ST IRET STl A= Yow
T e IerTEwe dfet e
SRl ot STEd

©)

(D) TR G # THOT Wil 07 HiHAr=

Td ¢ R AT

* srfaftera e’ snfor Tt @< Shivren

SR SENTEEAT TOasTs 37g 2

(A) TSR

(B) qol e

(C) FHRRRIgHR wadl

D) s i
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42.

43.

44.

If the production of a good creates
negative externalities the private

market will produce :

(A) too much of the quantity at too

low a price

(B) too much of the quantity at too
high a price

(C) too little of the quantity at too

high a price

(D) too little of the quantity at too

low a price
The aggregate supply of land is :
(A) Absolutely elastic
(B) Absolutely inelastic
(C) More than unit elastic
(D) Relatively elastic

Opportunity costs are also known

..........

(A)

spill-over costs

(B) money costs

(C) alternative costs

(D)

external costs

42.

43.

44

MAY - 11216/II—B

S FEEAT AT FUT HATRIdl AT

W Gt dINR

(A) S EUd S JEE 3eA
TOad FHH fRAdEn Hd

(B) &= EUd S HEY 36T
e ST fehAdian e

(C) gud ST A 3 ICRERSIEN
ERIGICTGIN

(D) EUF HH A AR EUd HH|
feRaTan el

THET TR GLEEl

(A) qui ereter STEal

(B) IUl STAa=h ST

(C) UehUsll S ofa=ieh 319l

(D) oA et 3Tl

dhfeqes ®©E § I AEME! e
NIArd e

(A) wiean T"
(B) Hg1 T
(C) W =
(D) =l T
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45.

46.

47.

The term fiscal federalism was

introduced by :

(A) Dalton

(B) Seligman

(C) Musgrave

(D) Amartya Sen

The basis of corporate tax is :
(A) Total turnover of the firm

(B) Profit after distribution of

dividend

(C) Profit before distribution of
dividend

(D) Capital employed in the firm

The MPC of a consumer is 0.80 and
APC is 0.40, then the income

elasticity would be :
(A) 0.5
(B) 2.00
(C) 1.20

(D) 0.40

45.

46.

47.

MAY - 11216/II—B

qSThISE EORSgae o §al I

el

(A) STeed
(B) HferH
(C) W&
(D) @ |7

| =T YR B STHal

(A) ST THO IARA

(B) onureT faaqomar freetss Tfgaran

TR
(C) wmeyr faauomenei=n =T

(D) Hu FHUAIST sholel igaa

SuiErATe! T 39T Yadt 0.80 3
T YA FxiT 0.40 3T, TR Iq=
Ta=Tehdl

(A) 0.5
(B) 2.00
(C) 1.20

(D) 0.40
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48. The number of telephone calls | 48. W& THfer=a STH 293 T ATcie

received in 293 successive one- AR cthle\tfl e wel fee -

minute intervals are shown as

HicTHEl T AT

follows :
No. of Calls Frequency 0 10
0 10 1 28
1 28 9 35
2 35 3 45
3 45 4 -
* % 5 52
5 52
6 32
6 32
7 12
7 12
8 14
8 14

AT hicH=] TUE ST sigereh 76

The mean and modal number of calls

are : A

(A) 3.89, 6 (A) 3.89, 6
(B) 3.89, 4 (B) 3.89, 4
(C) 6, 3.89 (C) 6, 3.89
(D) 4, 3.89 D) 4, 3.89
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49.

50.

If the coefficient of correlation
between X and Y is -1 or +1 and
a, b and ¢ are constants, then X and
Y are connected by which of the

following relations :

0 X,
(A) Y
(B) aX+bY =c¢

c

£ ooay
© aX 4

c

= —aX
D) aY “

Which relationship between the

three means is correct ?

(A) AM. > GM. > HM.

(B) HM. > G.M. > A M.

(C) GM. > AM. > HM.

(D) AM. = GM. < HM.

49.

50.

MAY - 11216/II—B

ST X emfor Y ameiel Segey 9euieh
—1 fpam +1 3@« M7 @, b, ¢ &
ek 9 o/, W X emfr Y

T WeteTdeh! hITcAT HeeM ool

Sgdia ?

@ o=
(B) aX+bY=c
©) aiX=aY
(D)j%=aX

T TUEN Tl hIor Hae siel

e ?

(A) AM. > GM. > HM.
(B) HM. > G.M. > A M.
(C) GM. > AM. > HM.

(D) AM. = GM. < HM.
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